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1.	
[image: ]
	ABCD and DEFG are squares.
	Prove that triangle CDG and triangle ADE are congruent.











(Total 3 marks)
2.	
[image: ]
	A, B and C are three points on the circumference of a circle.
Angle ABC = Angle ACB.
PB and PC are tangents to the circle from the point P.
(a)	Prove that triangle APB and triangle APC are congruent.




(3)
	Angle BPA = 10°.
(b)	Find the size of angle ABC.





..............................°
(4)
(Total 7 marks)
3.	PQRS is a quadrilateral.
[image: ]
	PQ is parallel to SR.
SP is parallel to RQ.
(a)	Prove that triangle PQS is congruent to triangle RSQ.








(3)
(b)	In quadrilateral PQRS, angle SPQ is obtuse.
Explain why PQRS cannot be a cyclic quadrilateral.







(2)
(Total 5 marks)
4.	
[image: ]
	ABC is an equilateral triangle.
AD is the perpendicular bisector of BC.
BX is the angle bisector of angle ABC.
 
(a)	Show that triangle BXD is similar to triangle ACD.





(2)
	In triangle ACD,
AC = 2 cm,
AD =  √3 cm.
(b)	Show that [image: ]





(3)
(Total 5 marks)
5.	Diagram NOT accurately drawn
[image: ]
 
	ABCD is a square.
BEC and DCF are equilateral triangles.
(a)	Prove that triangle ECD is congruent to triangle BCF.







(3)
	G is the point such that BEGF is a parallelogram.
 (b)	Prove that ED = EG




(2)
(Total 5 marks)
6.	
		[image: ]
Diagram NOT accurately drawn
	In the diagram, AB = BC = CD = DA.
	Prove that triangle ADB is congruent to triangle CDB.














(Total 3 marks)

7.	
		[image: ]
Diagram NOT accurately drawn
	ABC is an equilateral triangle.
D lies on BC.
AD is perpendicular to BC.
 
(a)	Prove that triangle ADC is congruent to triangle ADB.






(3)
 (b)	Hence, prove that BD = [image: ]AB.




(2)
(Total 5 marks)


8.	
[image: ]
	AB is parallel to CD.
Angle ACB = angle CBD = 90°.
	Prove that triangle ABC is congruent to triangle DCB.
















(Total 3 marks)


Geometrical Reasoning AMBER

1.	
[image: ]
	ABCD and DEFG are squares.
	Prove that triangle CDG and triangle ADE are congruent.Remember to draw on useful lines and look for 3 properties that are the same.













(Total 3 marks)
2.	
[image: ]
	A, B and C are three points on the circumference of a circle.
Angle ABC = Angle ACB.
PB and PC are tangents to the circle from the point P.Remember to draw on useful lines and look for 3 properties that are the same.

(a)	Prove that triangle APB and triangle APC are congruent.




(3)
	Angle BPA = 10°.Write all the angles you know on the diagram. You will need to use circle theorems.

(b)	Find the size of angle ABC.





..............................°
(4)
(Total 7 marks)
3.	PQRS is a quadrilateral.
[image: ]Remember to draw on useful lines and look for 3 properties that are the same.

	PQ is parallel to SR.
SP is parallel to RQ.
(a)	Prove that triangle PQS is congruent to triangle RSQ.








(3)
(b)	In quadrilateral PQRS, angle SPQ is obtuse.
Explain why PQRS cannot be a cyclic quadrilateral.What do you know about angles in a cyclic quadrilateral?








(2)
(Total 5 marks)
4.	
[image: ]
	ABC is an equilateral triangle.
AD is the perpendicular bisector of BC.
BX is the angle bisector of angle ABC.Similar triangles will have all angles equal.

 
(a)	Show that triangle BXD is similar to triangle ACD.





(2)
	In triangle ACD,
AC = 2 cm,
AD =  √3 cm.Start by calculating the scale factor of enlargement.

(b)	Show that [image: ]





(3)
(Total 5 marks)
5.	Diagram NOT accurately drawn
[image: ]
 Remember to draw on useful lines and look for 3 properties that are the same.

	ABCD is a square.
BEC and DCF are equilateral triangles.
(a)	Prove that triangle ECD is congruent to triangle BCF.







(3)
	G is the point such that BEGF is a parallelogram.Which other lengths do you know are equal?

 (b)	Prove that ED = EG




(2)
(Total 5 marks)
6.	
		[image: ]
Diagram NOT accurately drawn
	In the diagram, AB = BC = CD = DA.Remember to draw on useful lines and look for 3 properties that are the same.

	Prove that triangle ADB is congruent to triangle CDB.














(Total 3 marks)

7.	
		[image: ]
Diagram NOT accurately drawn
	ABC is an equilateral triangle.
D lies on BC.
AD is perpendicular to BC.Remember to draw on useful lines and look for 3 properties that are the same.

 
(a)	Prove that triangle ADC is congruent to triangle ADB.






(3)
 (b)	Hence, prove that BD = [image: ]AB.Use the fact that the triangle is equilateral.





(2)
(Total 5 marks)


8.	
[image: ]
	AB is parallel to CD.
Angle ACB = angle CBD = 90°.Remember to draw on useful lines and look for 3 properties that are the same.

	Prove that triangle ABC is congruent to triangle DCB.
















(Total 3 marks)


Geometrical Reasoning RED

1.	
[image: ]
	ABCD and DEFG are squares.
	Prove that triangle CDG and triangle ADE are congruent.Remember to draw on useful lines and look for 3 properties that are the same.


	S
	

	A
	

	S
	










(Total 3 marks)
2.	
[image: ]
	A, B and C are three points on the circumference of a circle.
Angle ABC = Angle ACB.
PB and PC are tangents to the circle from the point P.Remember to draw on useful lines and look for 3 properties that are the same.

(a)	Prove that triangle APB and triangle APC are congruent.

	S
	

	A
	

	S
	


(3)
	Angle BPA = 10°.Write all the angles you know on the diagram. You will need to use circle theorems.

(b)	Find the size of angle ABC.
	Hint: Use the centre of the circle…




..............................°
(4)
(Total 7 marks)
3.	PQRS is a quadrilateral.
[image: ]Remember to draw on useful lines and look for 3 properties that are the same.

	PQ is parallel to SR.
SP is parallel to RQ.
(a)	Prove that triangle PQS is congruent to triangle RSQ.

	S
	

	S
	

	S
	






(3)
(b)	In quadrilateral PQRS, angle SPQ is obtuse.
Explain why PQRS cannot be a cyclic quadrilateral.What do you know about opposite angles in a cyclic quadrilateral?








(2)
(Total 5 marks)
4.	
[image: ]
	ABC is an equilateral triangle.
AD is the perpendicular bisector of BC.
BX is the angle bisector of angle ABC.Similar triangles will have all angles equal.

 
(a)	Show that triangle BXD is similar to triangle ACD.

	A
	

	A
	

	A
	




(2)
	In triangle ACD,
AC = 2 cm,
AD =  √3 cm.Start by calculating the scale factor of enlargement.
Use AD and BD.

(b)	Show that [image: ]





(3)
(Total 5 marks)
5.	Diagram NOT accurately drawn
[image: ]
 Remember to draw on useful lines and look for 3 properties that are the same.

	ABCD is a square.
BEC and DCF are equilateral triangles.
(a)	Prove that triangle ECD is congruent to triangle BCF.

	S
	

	A
	

	S
	





(3)
	G is the point such that BEGF is a parallelogram.Which other lengths do you know are equal?

 (b)	Prove that ED = EG




(2)
(Total 5 marks)
6.	
		[image: ]
Diagram NOT accurately drawn
	In the diagram, AB = BC = CD = DA.Remember to draw on useful lines and look for 3 properties that are the same.

	Prove that triangle ADB is congruent to triangle CDB.


	S
	

	S
	

	S
	











(Total 3 marks)

7.	
		[image: ]
Diagram NOT accurately drawn
	ABC is an equilateral triangle.
D lies on BC.
AD is perpendicular to BC.Remember to draw on useful lines and look for 3 properties that are the same.

 
(a)	Prove that triangle ADC is congruent to triangle ADB.

	S
	

	A
	

	S
	




(3)
 (b)	Hence, prove that BD = [image: ]AB.Use the fact that the triangle is equilateral.





(2)
(Total 5 marks)


8.	
[image: ]
	AB is parallel to CD.
Angle ACB = angle CBD = 90°.Remember to draw on useful lines and look for 3 properties that are the same.

	Prove that triangle ABC is congruent to triangle DCB.



	A
	

	S
	

	A
	












(Total 3 marks)
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